
6.10-6.11 Doctor, Doctor Rubric​ ​ ​ ​ ​ ​ Name: 
 

 Confidence Interval 
Step 1: Choose 

​ Essentially correct (E) if  
​ The appropriate confidence interval is identified by name 
​ Parameters are defined 
​ Statistics are stated 

​ Partially correct (P) if only two of the above are correct 
​ Incorrect (I) otherwise. 

 
Step 2: Check 

​ Essentially correct (E) if the following conditions are checked 
​ Random 
​ Independence 
​ Normal (Large Counts) 

​ Partially correct (P) if two of the three conditions are correctly stated and checked 
​ Incorrect (I) otherwise. 

 
Step 3: Calculate 

​ Essentially correct (E) if  
​ The general formula is shown (with variables) 
​ Numbers are plugged in to the specific formula 
​ The correct interval is calculated 

​ Partially correct (P) two of the three above steps are correct 
​ Incorrect (I) otherwise. 

 
Step 4: Conclude 

​ Essentially correct (E) if the  
​ Interprets the interval 
​ Interpretation includes the confidence level 
​ Indicates direction of relationship between the groups 
​ States the confidence interval is the estimate for the TRUE proportion 

​ Partially correct (P) if it’s not quite correct for any of the following reasons… or others: 
​ A confidence interval is interpreted, but is the incorrect one 
​ An incorrect conclusion is given 
​ States the confidence interval is the estimate  for the sample 
​ Not in context 

​ Incorrect (I) otherwise. 
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6.10-6.11 Difference in Proportions 
 

Hypothesis Test 

Step 1: Choose 
​ Essentially correct (E) if the response 

identifies and defines the correct 
​ Test procedure (by name or by 

formula) 
​ Parameters 
​ Statistics 
​ Hypotheses 

​ Partially correct (P) if only two or three of 
the above are correct 

​ Incorrect (I) if the response does not meet 
the criteria for E or P. 

Step 2: Check 
​ Essentially correct (E) if the response correctly checks 

the following conditions 
​ Random condition 
​ Independence condition 
​ Normality condition using  𝑝

^

𝑐

​ Partially correct (P) if the response checks only two of 
the three conditions 

​ Incorrect (I) otherwise. 

 
Step 3: Calculate 

​ Essentially correct (E) if the response correctly calculates the  
​ Draws, labels, and shades the appropriate normal curve 
​ Test statistic 
​ p-value 

​ Partially correct (P) if any of the following are true 
​ Does two of the three above items correctly 

​ Incorrect (I) if the response fails to meet the criteria for E or P. 
 

 
Step 4: Conclude 

​ Essentially correct (E) if the response  
​ Provides a correct and complete conclusion with regards to the null hypothesis 
​ Has justification based on linkage between the p-value and the given α = 0.05 
​ This conclusion is in context 

​ Partially correct (P) if  
​ the response provides a correct conclusion, with linkage to the p-value, but not in 

context; 
OR 

​ if the response provides a correct conclusion in context, but without justification based 
on linkage to the p-value. 

​ Incorrect (I) if the response does not meet the criteria for E or P. 
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